2018 (A)
SSC PART-I (9th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-|
TIME ALLOWED: 2.10 Hours SUBJECTIVE ¢
MAXIMUM MARKS: 80 ;
NOTE: - Write same question number ek g v SR Lz Urgsdidz e

and its part number on answer book, as given in the question paper.
SECTION- i

2. Attempt any six parts. 12=2x6 .’f//ut'iél7lsc_d: 24 )
() Define Square Matrix with example. L0 sc-J‘?J/‘L(-f iy )
- - + 3 4 —3 4 o
Eepedl b sa K ”u B B l] =.[ 6 7] /i (i)
‘ a+3 4 [ -3 4

). T =L 6 3 thenfind @ and » .
£ ; [ %] AR I
(i) Uselaws of exponents to simplify. i S D1 O S (1)

X'y 2
(v) Express 9" 7 i standard formof @+ bi Q S0 a+ b J’;,‘A_rvf 2= 7.‘ (iv)
34+ % 3=
(v} Express 6x10™ in ordinary notation b/\s\ ) -4‘:,5/:3.%' 6> 107 (v)
0
(vi) Findthevalueof ‘x' if log,x =S5 /) o log,x =5 JSigeweiy x (vi)
| 2, I
(Vi)  Define Rational Expression /04_ SaET i
)— (9 ly—"_l Vf(; 5 :'.f o
(vil)  Simpli = Reb e viii
) plify. = = S (viil)
(ix) Factonze. 1440’ + 24a + 1 I44a° + 24a + | -‘rt- ; (ix}
3. Attempt any six parts. 12=2x6 L ferd n;._ca 34y
()  Findthe HCF 102xy°z, 85x7yz, 187xy2° -,{:'I‘:‘V("yt (i
(i) Define a linear equation in one variable LEfendaLtBL i)
(i) Solve. 1|3x+2|-4=11 —|3x+’i- =11 A (i)
(iv)  Draw (-6, 4 ) on graph paper &by 4:9.4:/: (-6.4) (i)
(v}  Define Origin, Lo 'U( 'r’ (v)
(v} Find the distance between pairs of points. A(9.2), B(7,2) “ 'P.w enlnind s (vi)
(i) Find the mid point of the line segment joining pairs of points Bt L il 48 (vii)
A3, -11), B(3,-4)

(Wi} For tiangles, what is meant by SS.8 = $5.87? aﬂ/b-c. WA S = Lol ;‘_Jw {wif)
(ix)  One angle of a paralielogram is 130" 3 ‘{ Yy 'JJ,'“L\}..._V o130 _.)‘...yfvllﬁl";zlr‘».:'/ (ix)

Find the measures of is remaining angles.
( é' dn)



: 1<)
4. ‘Attempt any six parts. 12=2x6 -é//.,tli&l?li;.é/ A4y

o = le
() If CD istherightbisector of line segment AB then O~ o et AB B ol - )
(i) mOA = :7 mOA = 0}
) maQ= mag=___ (i)
Q— D

< ” |4 - ” - " ;- ' n
e trise QST A Ll 280 S AT Bem B em 10em BN A A O [ (|
()  1f10cm, 6cmand 8 cm are the lengths of triangle then verify that sum of measure of two sides of a
triangle is greater than third side.

(iiy  Define Proportion. LaAlt i)
(iv)  Verify that triangle having measure of sides o Udt wcw,,lmugw’wzw.rg g (W)
are sides of right angle triangle @ = 3¢cm, b =4em, ¢ =3cm
(v} Findthevalueof * in figure. Lordf v &F W
x N&cm
5 s
(vij  What is meant by interior of a rectangle? e ?.c,l/g;,;ui'ﬁué’ {vi)
(vii) Find area of figure ) ()
: D 4""'
(vii)  Define median of a triangle. é.u/&u&...h (vill)
(X) Construt AABC inwhich  m<B=60", mBC =37Tcm, mAB=48cm LSSk AABC (i)
Q,

SECTIONAL (1.2
24=8x3 -ad,u‘é_'éJ— Efe Lot o

NOTE: - Attempt any three questions. Question No?gcompulsory

5(A) Solve the following equations with the help of Cramer's Rule:- %Jc.uouiﬁl A Hotiadng ()5
4x+y=9 -3x-y=-5
4 -3 = _A4=3 4
(B) lf2=2+4i , then calculate Z - # é(PJoz {'m Z= 2“" A (&)
6(A) Using logarithm table, find the value of 0.8176 x 13.64 LIl [ ()6

(B) I x=2+3 thenfind x -~ and(x—-l-)‘ .{;,/?PU.‘?J(“l)],«p;"-}xx:zefﬁfl ()
3 X X
7(A) Factorze 85" +60x’ +150x + 125 8x' + 60x* +150x + 125 -Zyf (.7

(B} Use division method to find square root of the following expression - A I &(:?g;i, ()
4+ 25x% = 12x - 24x" +16x*

8.(A) X2 31> 1.;_‘ > 1 -/ Seed ()-8

(B) Constructthe APQR and draw its alttudes. - -J:i‘[(w,c),fémm,{'u POR &8 (L)
mPQ = 6¢em, mQR =4.5cm, mPR =55¢m
9 Prove thatany point on the bisector of an angle .q,rnkwd»v;ussigéwﬁ.ﬁﬁ{wtégﬁ&?ﬁf o 9
is equidistant from its arms, OR |
ngwt)m (UraelB/l ) unc‘uuy»z_»u FEPL Sssing it i S8 Inprabgtl ok
Prove that parallelogram on the same base and between the same paralief lines (or of the same altitude)
are equal in area.
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\ 2018 (A) 222 A
SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUPAI 1. oo/ (oo/ /50) L,

TIME ALLOWED: 210 Hours SUBJECTIVE _‘¢L.» Za10 = &

MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number -.;.e»u:;.;.gv.&é Z-,»;.%LMJW:;Q e e
and its part number on answer book, as given in the question paper.
SECTION-I Ji.»

2. Attempt any six parts, 12=2x6 -g{_//'.:.yzélzsg;df 27
0 1 I ” a 3 0 »
(i) lf.-l=[_? 7J and B=[:] then find AB /A8 B=[§]m Az{_l 2J.h (i
(i) Define Scalar Matrix LAV i)
(i) Simplty 52" 4 (57 ST+ (S)EA G
(W) Find the valve of i LS Ty
(v) Findthevalueof x if log, 64 =2 o LA % hlog64=24 W)
% ;
(vi)  Provethat log, mn = log, m + log, n b/ . log, mn =log,m +log, n S7/zt  (vi)
5 .
, imniie, 8@ (x+1) @) Sa(x+1) i o
Simplify, —==""1 —ST T
(i) - Simpity. =2 5 /)@ T &4 il
(i} Simpity. (3.4 3 )3 - 3 ) %/0(3 3 )e-43) -E4 il
(x)  Factonze. 3x* - 75, 3x' - 75y éd/‘ (ix)
3. Attempt any six parts. 12=2x6 -gf;f;@bt&lZl{céf 3w
() FindLCMof 39x"y'z and 91x*y*s’ L R Nx’y'zT 4 39x7y': ()
(i) Define Extraneous Roots. AT I AT ()
(i) Solve [X*3|_¢ EX =6-2J i)
2~ |7==|" " %

(v)  Define Cartesian Plane A T (iv)

-_é(ﬁ”;f‘-'" ¢ om »ﬁaéﬁj vemx+cf x-2y=-2 .;'»Vu‘m," (v)
(v}  Ptease put the equation x — 2y=-2intheformof y = mx + ¢ thenfindvaluesof ¢ and mr .

(vi)  Define Collinear Points -.5.'-4'/‘7»(*@5(" (i)
Vil Find the distance between the two given poinls ~ 4(2, —6). B(3, ~6) SRl Ly (i

vil) StateASA = ASA. postulate, Loary Ll s L {viil)

(ix)  Define Paralielogram “E g (ix)
( é-‘ d.l’ )



(&)

4, Attempt any six parts. 12=2x6 -,é;f.:.glxélzlic.df A4y

P
{iy  Define bisection of an angle. -u_/..i_'/&.i;"&ﬁ

()  3cm, 4cmand 7 cm are not -u_)’.-)u;:_d-‘-': -Lgué’ul_f'w’blwwgfr Tem 4 4cm 3 cm
the lengths of the sides of a tnangle. Give reason.
(i)  Define Ratio and Proportion. I f e
(v) State Pythagoras Theorem. NG SO 2
(v)  Findthe unknownvalue x infigure. .g:fr}".-,-f ¢ ox (#‘MJ’
dem ‘\\ x

—_——

()  Define Area of a figure, e i i&:&fuf
(vii)  Find the area of the given figure:~ -w?)*‘.}:t’f é"d:

3em

6em
(vii) Constucta Axyz, inwhich mz=7.6em, mxy=61cm, mix=90" LSSk Az

(ix) Define orthocentre of a triangle. ISl st
SECTION-Il 7.2

i
(i)
(i)

(iv)
(v)

(vi)
(vil

{viil)

(x)

24=8x3 i 9w Erfenlemmded] o

NOTE: - Attempt any three questions. Question No.9 is compulsory.
5.(A) Solve by using Cramer’s ruie. 3x -2y @d. Sx -2y ==10 .é.)’:.mfail?& /:/

Lt S N T
D EE) % IS

e A= % LLdfS }x® Qé/z Sp A=dae™ SLe,
B(A) Given A = A.e™ if k =2 what should be the value of 'd" tomake A/Di‘& ?

| g - %
(B} Ifx-;=4 then find x'-'—:‘ -Q)’(P.;{J x’-% o x--l-=4 ﬁ

7(A) Factorize the folowing cubic polynorial by factor theorem. AL AG i fibnenleie
¥ =6 +3x+10
(B) Use division methed to find the square root of the expression. .é,f:“’é}bi,,/.” ik
x*' = 10x" + 375" - 60x + 36

B(A) Solve. -5 <3=3X 4 —554‘23‘<| VoA
(B) Construct A ABC and draw the perpendicular bisectors -.;’?'J'tdxfébwéwm-.[ b AABC
of its sides, mBC =29¢m, mZA=30", msB=60"

e bl LBl U LB Heisnlod
g Any point inside an angle, equidistant from its arms, is on the bisector of it
OR & i
Triangles on the same base and of the same Surae gC.}mule,:t,ﬁ?ﬂégd;:!uxdb{ww.ﬁzgr‘b' w
altitudes are equal in area.
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PAPER CODE 2018 (A) s L}/ o
NUMBER: 1191 SSC PART-| (9th CLASS) Lt

MATHEMATICS (SCIENCE GROUP) GROUP-| -t/ (] PO P

TIME ALLOWED: 20 Minutes OBJECTIVE d":/’.ﬁ w20 =
MAXIMUM MARKS: 15 15= AF

Ao § NS0l R mire el g izl oz ¥R g £ L D CUB LA SR L e wkr?

gedrt JFi '.":'\-C‘f'.’.dr"u‘-’.-_z.-'dlﬁ_.-’;‘i I its ST U T PRSI ROT S S O 3 § LS it L 2=,
Note: You have four choices for each objective type question as A, B, G and D. The cholce .QJQJ'?}.» s
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zere mark in that question. Attempt as
many questions as given In objective type question paper and loave others blank. No crodit will be awarded
In case BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Productof [x _‘-][ ﬂ is equal to'~ 4z [x _,,][ ﬂ JWs 0
(A) [2x+ y ] B) [x-2y] © [2x-y ] 0 [x+2y ]

(2) Thevalueof i is- wedf @
(A) ¢ 8) -1 (C) =i o)1

(3) Log,x will be equal to:- Koz Log x 3)

Log.x Log = Log ¢ Log,y

o B Toes © 7o B

(4) The degree of polynomial 4 + 2x’y is:- ) conf 4x' +2xy 3w
(A) 1 (B) 2 (% (D) 4

(5) ____ will be added to complete the square of 9a’-12a[lf/ ~LLIORNLEL LB I 928 - 12ab (5
(A) ~164° (8) 16h° (C) 4b* /O (D) —4b°

1
(6) Thesquarerootof x* 4 1 4o is- ) 4Bhel B r=+2 g

*) i'[x+£] ‘@ t[x‘+;',-J © i(x—%)GO’&) r(x:-ﬁ]

(7) x=0 isasolution of the inequality:- AL S cnled x=0 (1)
(A) x>0 (B) 3x+5<( C)x+2<0 D) x-2<0

(8) _____ordered pair satisfy the equation y = 2x -4.5!;4..1!)2. y=2 ch __ B (8)
(A) (1. 2) (B) (2.1) (C) (2.2) (0 (0,1)

(9) Mid point of the points (-2, 2) and (2, -2 is:- e Bk (2,-2) 4 (-2.2) 6 (9
(A) (0.0) @8 (-2.-2) €) (2,2) @ (L1

(10) A ray has end points:- Sl fLUWEL (10)
(A) Two » (B) Three o (C) Four 4 (D) One {i

(11) In a paralielogram are congruent il _ Ltewgiar (1)
(A) Opposite sides {3y (B) Opposite angles & s i@
(C) BothAand B Bl A Use (D) Diagonals 7

(12) The bisectors of the angles of a triangle are:- Gla __ anlymlati (1)
{A) Congruent jb‘-‘ (B) Parallel $7L  (C) Concurrent 54 (D) Perpendicular "

(13) One and only one line can be drawn through ___ points -959%52‘1‘.{!.5,4:4.{!;0:.'5 - 19)
() Two » (B) Three of (C) One i (D) Four /y

(14) Area of a given figure is:- Y §o (4)
(A) 36em® (8) 18cm’ (A1% 36 (B)%F 18
(C) 36em (D) 18 ¢me = o (C)F % (D) 18

6em
(15) If three altitude of & triangle are congruent then the triangle is:- .d::wo:}uxJ‘U*»fufﬁw._fﬁﬁ (15)

(A) Isosceles fUISiL-  (B) Equilateral (i~ (C) Rightangled /124 (D) Acute angled .75k
29(SCIENCE GROUP)(Ob)( 7 )-2018(A)-73000 (MULTAN)



PAPER CODE 2018 (A) /JJ, 7
NUMBER: 1192 SSC PART-| (9th CLASS) 5 ’ 2/‘

MATHEMATICS (SCIENCE GROUP) GROUP-II pmerd (of P S

TIME ALLOWED: 20 Minutes OBJECTIVE u"j’.ﬁ w20 =y
MAXIMUM MARKS: 15 15= AF

Ao ¢ FADIIS Tl R arne o DL E i S g g 380 742 D i © B A ARl Jivs “td
LV .‘.\yi:&fﬂ.;\}f.ﬁ:ﬂfufi—ﬂ.’:i /‘.)l/"’ -fmr;ﬁ..,b!uﬂ;;.:-n‘\ﬁ./z ok 4 Lf.;'fu.-}lm'.:c.-,l," -
Note: You have four cholces for each objective type question as A, B, C and D. The choice . /2 s i
which you think ls correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark In that guestion. Attempt as
many questions as given In objective type question paper and leave others blank. No crodit will be awarded
in case BUBBLES are not filied. Do not solve question on this sheot of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The order of matrix [2 ] is~ < [2 1] M)
(A) 2-by-1 (B) 1-by-2 (C) 1-by-1 (D) 2-by-2

{2) Every real number is - ..;./'6‘5 (2)
(A) A positive integer seCeit] (B) A rational number se Pt
(C) Anegative integer 4Gl (D) A complex number w2 { /Jp;( £

(3) The logarithm of any number to itself as base s - PENRTS S 71
(A) 1 (8) 0 () -1 (D) 10

(4) &' + »'isequalto- Q <dza'+b' (4
(A) (a=b)(a’ +ab+b*) (B) (a+ b I_ah+b)
(C) (a-b)(a* —ab+b) (D](.-;-b)(a’k,ab—b’)

(6) ____willbe added to complete the square of 9a’ —12ab O LySBLLLuEANY 9a' ~12ab  (§)
(A)-16a° (B) 1667 (C) 4»* /) (D) -4’

(B) LCMof f +4* and a* - b*ig- QAWK ot~ o a+ b (6)
(A) a* + & (8) a' - b ) a* -5 a-b

(7) A statement involving any of w0 telentiliet <ot 5 4 2 KUY )

the symbois <, >, >0t < iscaled- (A) Equation < lis '?

(B) Identity seindLed o2 iiall (C) inequality wislsZ (D) Linear equation =hiadnd

(8) Point (2, —3)lies in quadrant- kBl (-3 8 @)
(A 1 ®) 1 (c) m ©) v

(9) Mid point of the points ( 2, 2 )and (0, 0) is- e BN (2,2)4 (0,0) 5B (9
{A) (1.1} 8 (1,2) {C} (0, 1) D) (=1, -1)

{10) Aray has end points - Ulse 2 L0SL (10)
{A) Three ¢ (B) One i (C) Four /¢ (D) Two »

(11) In a paralielogram opposite angles are:- gl emdellwadr (1)
(A) Equal 44z (B)Unequal (& (C)Parallel (i (D) Colinear 1%

(12) Bisection means to divide into ______ equal parts. -.g’:.{'#..’.' Curl s (12)
{A) One i (B) Two o (C) Three £ (D) Four J

(13) Ratiohas_____ unit, wbtr el (13)
(A) Kg /¥ (B) m ¥ (C) Cm %% (D) No any 5/

(14) In a right angled triangle the widest angle is of - Dt e Sl BT (14)
(A) 90" {B) 60" (€) 45 (D) 30°

(18) ___ congruent triangles can be made by -g_rf‘ﬂ;hg'ﬁf*ﬂ’ _‘L:Lﬂﬁ&»é{,-s'«-&.‘ﬁ-{l (15)

joining the mid points of the sides of a triangle.

(A) Three ¢ (8) Four .y (C) Five 5 (0)Two »

31(SCIENCE GROUP)(Obj)( 73 )-2018{A)-64000 (MULTAN)



